ERRUBH LORECEDBER (FF34%4 A 1 BEE)

TEEEHR (1)

%&f%ﬁﬁﬁﬁﬁﬁﬁggﬁ aFt NF kil b o> B
Gk I VST W, o | 09 | (%) | B
4= 204
1Rk ERR 72 365 21T O s | 204 16.4
— 200 1 97 963 ik
. .. 5921 123 =
V28 B D Sl SR R
2k | B L T HEEEIT 123 9.9
W5
123
FIEEER 168 B
R (PR ) 54 Al
3 BRI EEOREE | 222 17.9 222 | 17.9 E
%
292
FAT: 260
RE 69
FEFER 1
Rt % —Fr&E 20
FTHETCXEE X —TE 2
EEFFE R 2 T
zM&iﬁ‘iﬁﬁw%ﬁwﬁ 384 30.9 %ﬁig Ul ossa 3009 E
i R g 10 5
A E R 15
WRETEE 1
ZEHREAIRE 3
384
AR R A 6
Fip 131
MR R 1
U—7 %2 —IREIREE 1
BRI R & — TR 1 E
o |= : o p PEEEEA e X — TR 1 ‘
5k |[PREMIE L O ERORE | 151 12.2 R o F R | o1 122 ﬁ
HRERE 8 i
Rt % —Fr& 1
151




#
5

SRR R e | O

&

gttt L oD B g

o HUE L 7R DI N8

e

=

(A)

(%)

B4l

H

6 # |iR & K OMH 2 B O g5 100

8.1

R

Y

FHWRE

EREHRRE
FLLRERETEY L X —RITTR
B RHE

ZELREE

F L X Y X —F R
HEFEHITER

IEEF 55 & L 2R
PR B S LAY S T R
BEMOKEE FH TR
R T AITRE

JEEB E T AEES TR
FEAHEREE R

BEERAR R

DN W~
S Ol

[ e T N T e e e b R T

5]

100

100

8.1

7 #% R E M OB H OB 40

3.2

R

S

REZERFHRE
AR LR 5=
BEALZRFH AR

T EbLRERAG IR X TR
S E L ER TR

i RSUb AR
EEEHERRHEH AR

27

e e e

40

40

3.2

/%
e

8 |EhF OV B F D IS 18

1.4

R

AR

N
B
HUHEARFHRE

— = = O O

18

18

1.4

N
W
+

1,242

100.0

KEIE (%) ZFELALTWD 20,

BEFR100% &R BN GA R H D,




ERBEEHE (1)

i %M%%ﬁﬁﬁﬁgﬁi# At N7
5%@&7&5%}23’73 (A) (%) H%k%

WHEE

11k = B OW5s 9 17.6
=8

. VRV T80 FE D N5k ST B %

2Ry L B B Rk 15 | 29.4
B &
R

3 M |5 R R S OB D §iges 23 451 |BREIRFL Y Y = v 7 sk R

kAl TR
RlliTes
4 ik | BB R f OB ER O Rk 3 5.9 [EHHE

Pt
5k |t & 1 2.0

>
Wi
+

51 [100.0

XEIE (%) FUELALTHD7D, BFt2100% E R ERWEERH 5,




ERBEHE (2)

| FPONIE IR BT &t N7
5%@}:%&5H&TJJ (j\) <%) H%ZZI
D, D X R R T
AT, BRPR A A, /R S % -
W, BRI L, (R
18k e L, SHEIER . B 4 4.1
PR, R Tt
SR L, ek, <
A — A % O TS 1
DI 5
) R A B 7
AN, HHIT A, e :
DR, BRI B T
fili, B AR R, R RSN+ 4
o |5 TR, SRR b7 g g B LR 9
P R ToeR . iR | R 2
BT H swREEL, SR S 4
T~ — DSRS0
s
27
DI TR 8
I R 5 7
PR AT 9
AT, R, e A
Xy e 3
N /if - ?‘, L o 22
s lvr. teems . S | 46 469 [P LR 7
Wb R LA, R B L
BT b, ERMEAE L, R B T |
5 D TS PR 4
HRKIFm 2
46
EER 13
430 |3 R OMR B DT 14 S 1
14
Eetid 1
3 1
5 i, | FVEEFI S B O 2 0 ) P
e |
2
AT E 1
AT 9
6 1% |50 5 R OB B O TS 5 B E 9
5
At 98

KEIG (%) BIHETALTWDD, GEt13100% L2 bRWEERH 5,




EEBEHE (3)

s %%&%U%@%%%@%E# &t N
I & 7 IR 09 | (%) T, 09
1 8k |HETE R AT O ks 0 0.0
i 0
RN 5
o WEEFERT, &REM L OB pE % 166
2% T T 171 54.8
#0171
R 100
3 % | RE AT M ONB FE Rl O 55 100 32.1
100
R AT 22
o | EATTE R K OV AT-Bh PERT
zm&wﬁ% 22 7.1
= 292
FiEm R 16
5 #% | & ERT = D RS 16 5.1
= 16
HilEE
o, B R K ORIF R O AR R .
6ﬁkﬁ% 3 1.0
2 3
&t 312 100.0

KEIG (%) BIHETALTWDD, GEt13100% &2 bR WEEDRH 5,




LEBEHER

i %&%%#%%ﬁg%i# it Wil
oI L 72 DI 09 (%) W, 00
ShHE R G 6
1 % | ShHE B 20 O Tk s 6 9.1
6
ShHE R 2 15
B O N SRR % iy
2 #f | & T D ShHEE ZGh O Tk 15 22.7
a?,k
” 15
EIEXER 14
3%& E[JE‘E{EE:@H%%% 19 288 E'in{i (ﬁﬁtfﬁ@ﬂ#ﬁﬁﬁ) 5
19
AT 19
4 4% | DR 03 | 34 g |PHEREHR 4
23
5k |ShHERE O = & O TS 0 0.0
0
= 3
o |RUHE 70 3655 % T~ 2 ShfE
OB s R ok 3| %8
3
&t 66 100.0

XEIE (%) BUELALTHD7D, BFt2100% E R ERWEERH 5,




